I3Y-J

A{TMIRREES (EPD)
Z&#ES ¢ JR-AI-22120E

SUMPORIESAINITIS A
—RAEEAT AT T I IVIREHEWE
FRETRBXEEEH2-2-1
https://ecoleaf-label.jp

E/700—F—EEH

brother

at your side

Compact Monochrome Laser All-in-One Printer
with Duplex Scan / Copy and Wireless Networking

M FC_L2759DW for North America

J5Y—T%# X424t / BROTHER INDUSTRIES, LTD.

BEXSREPE

m i%E

==l )E7)

FEATRIERIE, L. FOE. (£ - HHSEIE, R - UY) IS

HEODBK, EEMLHE - Hc
2R : MFC-L2759DW
-ESRARI7Y2ZY (£/Y0EPAT)
AAREE : 11.9kg. BEAh : 2.6kg
-EBAAMYAX : A4, Letter
« Z2—=)0-G3xditx
- BB EENRIHEEE
B/ EARLAN
XA FIRAEIFTY,
BEUWSbhtE%
TH-TEMAST RURZENXTCEESS
TEL: 052-824-2511 (%) FAX: 052-821-5177

https://www.brother.co.ip/

ERES JR-AI-22120E
iEFPCRES PA-590000-AI-04
PCR#% BYRA IR (554hR)
NS 20224108198
WEE&IBE 2022498308

S 2T RIS
REIES JV-AI-22120E
REEEHAR 2027498298
PCRLE1—DsEfE
REASE 202264818
TER iz ExZ
(—MRHEIEAN T R T F T LR EHEE S
B=BREIE*
NEMREEE AN 5

ISO14025(CE > e REERUT —F DIRIL U ARSE
OIPAED L Pyl

*L AT LRI RITTEBEAANDIRIDBSE. R FT LB ZTD
EEEBORRIZE .

Eix&ES 1 JR-AI-22120E


https://www.brother.co.jp/

IaJ-J

HRIRGEER

SATERIRE S
B#ES © JR-AI-22120E

(EPD)

0%

20%

40%

SUMPORIESAINITIS A
—BAEEAYT R T T I)UIREHERGE
SFREPTFRBXIEREE2-2-1
httos://ecoleaf-label.jo

OS54 TYA D)V EFmER

60%

80%

100%

S{RZEE) IPCC 2013 GWP 100a 270 |kg-CO2eq
[izdeale 0.16 |kg-SO2eq
BRHE 0.012 | kg-Sbeq 6
n DR HE nQitE " QFE
B @FEA-HEEE s OEE-UH/IL
PR B =21y} a5 OFRMBEE Q%= Qi | #ISEE cER- UB1IL
S/RZE) IPCC 2013 GWP 100a | kg-CO.eq | 2.7E+02 || 1.0E+02 | 4.8E+00 | 8.6E+00 | 1.3E+02 | 2.4E+01
EAIHAL kg-SO,eq | 1.6E-01 | 7.6E-02 | 3.5E-04 | 1.3E-02 | 6.2E-02 | 1.1E-02
ERHE kg-Sbeq | 1.2E-02 | 8.3E-03 | 1.6E-05 | 3.6E-05 | 3.7E-03 | 6.0E-06
QT ITVAIIA N> BUDIREE QMR NS
IHH I5E Hifyy
JEBLERIEER 1.2E+01 kg 5 8 2.6E+00 kg
JEBERIRE T RILF— 9.6E+01 kg SuUs 5.2E-02 kg
BAEAJEEER 2.6E+01 kg TILZZO 7.8E-02 kg
BAORETRILF— 1.1E+02 MJ ZDfhERE 0.0E+00 kg
BIKOHE 2.7E-01 m3 TSAFVY 7.5E+00 kg
A 1.8E-01 kg
HSXR 7.3E-01 kg
ETi N 2.1E+00 kg
EROIFEER 5.2E-01 kg
Z oAt 7.6E-01 kg




IaJ-J SUMPOIEBIESANI OIS A

o faty ey — — R EEAT T T T )UIREHEERRE
z'f TEIERL%EE (EPD) B TAORESE2-2-1
ZixEgEs . JR-AI-22120E https://ecoleaf-label.jo

OHERRICEY DEMHH

ERERBOEESZE (SFJA)

Jr o=V (ESRABHIE) . BEEREARE : 58, X5 : £48,0004%
BAERER/ (5 -2 ITUT No.1F v+ — b, EIRIARIFREEE(CS TV AR mEICRAET

©-1.CDMDERFEEIEFR
ARMOIETEE EFEEPRD b — RUBLARIE(IISO14001 EESHRTIHICTITHNTLET,

QERUEZRT—HIDERS
IDEA v2.1.3 RUSUMPORIESNILTOI S ABERRENA v1.10 ZER L.

®fF%

0 —FHEDSEIE. PCREKUVETE - EEMREERSHBLTIIZE,
OLECDWT (L, BE - EERTEICRESNERGZEIZUEBEICUMRHENER A,
(ZBB5URL : https://ecoleaf-label.jp/regulation/)
SixES ¢ JR-AI-22120E



	ｴｺﾘｰﾌ①
	ｴｺﾘｰﾌ②

